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¥d¥y = —d3 A dxadt :
¥d% = —dx AdY Adt
£(dZadt) = dxady
*(d%Adt) = d2adx
*(dxA d%) = -d3 Adt
*(dYA dZF) = -dxadt

*(d3 ndx) = ~dyndt

P ROBLEM ‘1’3? On py- 98 ia ea® 915 we defined he Lralil kﬂfnr
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(&"j F = We Adt - Eé"
(b-) F;-u = ?r; A-y e '91-’ Ar’

For part (L) T remind you _’Hu-.ﬁ (A‘I") = {-VJ E} where V
fs dhe Scabar potenidlpd mtﬁ A is the wvechor potontied, they
Felake +o Hu E,8 Relds as o utw.r’
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[Prosiem HT] Show thab @ =0 where = =, (xd% - 4dx) . (& 11.52)
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result of Gk Jext . ch'-ven a  particular thm":ae_ ¢ cuffend
EpﬂFi&dmrnHm ?[ o calobnjfua Jgﬁneé scalor * ve clor Pa’h\n‘i"fﬁ.ﬂ.

Show 4t A = ﬁrdX*"’ and A; = A+ dA t-g;'-u the same
field densor.
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| womb Gouge VA =0 and
+ha  Lorentz e P '3], AF = Q. Which of hese gousg, cheicas
EE pftS*!f‘Jec! yﬂd&r &, Iﬁrﬂ.ﬁi"z ﬁnﬁ,j‘-ﬂ;(mﬁ_fj“aﬂ ?

PRoBLEM '-iE] Show Yed f cha, s o rest wi B= 8% i Hhe
it s A eonchnt V'e:fa;:'ha— ﬁ:ﬁ‘i‘#% ;: S';Lhcrew',?; E ‘;-Birmﬁ:!:} S'S"Ti{ﬂ




